eries

o or 1ot e
fe A 2

8l 930~3150

> 243 Uk M2 TYPE

v
>
02

M
=]
>
oo
o2

M=
r
jin)
=
I oy

olo 00|00 | >
M
|k | H0 ol
O | o | nF | Q
do|do (o |

>
P
o
>

o
% AR 21007 014 AFBA| 22 HRHLICE
% AL 42 140kgf/om 042 22| HIZHLICY,

il

ol

=] o
ot B2Y HES

So=0o

it
SD, FA, FB

x 0125 0¢ H2ACE HZ 7ksEILIC (2oL
% S/W Type(g 30~ 100) HZAl D+AEZ3) x|+ HEF +15 AT

% S/W Type 2125 0l HZ 7ts 29 29

930, 940, ¢50, ¥63, 980, 9100, 8125
140kgf/cr
Skgf/cr

8~100mm/sec

-10~ + 80T

‘ INEN ‘ A= A ‘ AERT ‘ ZE MO TYPE ‘ AQYR| 22H HAEHARRE
A-B DC24V/AC100 W-gZ=
V-LEE 14

% TR FEEA : THCO-LIZ-XIXIEA
EX) THCO-40-FA

» 2= MEL TYPE

—
il

52 | www.TPCpage.co.kr




[ Ay gty Azir @30~2125 | THCO Series

> LI X

1 = E SM45C 1
2 = Al BC3 or FCD45 1
4 18 2E SCM 1
8 = | SM45C 1
12 o A& E BC3 or FCD45 1

> Packing List

URETHANE or NGR URETHANE or NER — TEFLON

____

POII

830 KWS 18 G35 18x26x%5 AN120 AN112 QUDA-R30 30%24,5x125
040 KWS 22 G45 22x30x5 G35 AN114 QUDA-R40 40%34.5x1.25
850 KWS 28 G55 28x35.5x5 Gd4b AN211 QUDA-R50 50x41x2
963 KWS 35 G70 35%45x6 G55 P29 QUDA-R63 63x54x2
980 KWS 45 G85 45%55%6 G75 P39 QUDA-R80 80x71x2
2100 KWS 55 G105 55%65%6 G95 P49 QUDA-R100 100%91x2
8125 KWS 55 G130 55x65%6 G120 P49 QUDA-R125 125116 %2

(F)TPC HIZIEZH A | 53



THCO Series | a& 2%

o AdBH g30~2125

> 7|2 (SDE) LULIAF TYPE

A D + STROKE
H J + STROKE | 2—M
!
T T
----- l REEN
= =
_— N
[ \

_ NN 1
L ===
L b —-
(P 7 Ll — —

O

% S/W Type(230~2100) HEA| D+AEZT) X|> HAE +15 1

% S/W Type 2125 014 R 7Hs 29| 29

» Dimension

M12x1.75P
940 622 | 10 | MiI6x2P

p50  ©28 1 M20x25P
963  ©#35 13 M27x3P
980 = 945 17 | M30x35P

9100 855 | 25 = M42x3P
9125 655 | 25 | M42x3P

15
20
24
33
33
45
45

= (21250

54
56
60
67
78
80
85

ALS
[

o
T'__

868
878
888
8108
8128
8158
0188

853
863
873
890
8108
8132
8159

27
27
27
30
34
34
39

PT1/4"
PT1/4"
PT1/4"
PT1/4"
PT3/8"
PT3/8"
PT1/2"

M8 x1.25P
M8 x1.25P
M10x1,5P
M12x1,75P
M14x2P
M18x2.5P
M20x2,5P

54 | www.TPCpage.co.kr




:Io
rﬂQ

g 98 42t g30~@125 | THCO Series

> 7|28 (SDE) =LIAF TYPE

oE C A D + STROKE
H  J+STROKE | | 2—m
| ‘
— —
————— - -
i =
=== ===
L4 b —
S e — —
2x4— N (TAP)
% S/W Type( 30~ 100) HZHA| (D+AER ) i HAE +15 GAHE (5125 O[4I 29| Q1Y)
% S/W Type 9125 014 XXt 7ts 29 9%
» Dimension
Er°|mm
mqﬁ---ﬂﬂ----“-_ﬂ
930 218 M16x1.5P 268 = 953 PT1/4" M8 x1,25P
040 822 25 M20 x1,5P 20 56 978 | 963 27 12 17 PT1/4" M8x1.25P 15
g50 | 28 25 M24 x1,5P 25 60 988 973 27 13 20 PT1/4" M10x1.5P 18
963 835 30 M30x1,5P 35 67 2108 | 890 30 13 24 PT1/4" M12x1.75P 20
880 645 30 M39x1,5P 35 78 9128 | 9108 @ 34 18 26 PT3/8" M14x 2P 22
9100 855 35 M48 x1,5P 45 80 p158 | 9132 | 34 18 28 PT3/8" M18x2 5P 27
9125 | 855 40 M48 x1,5P 55 85 9188 | 8159 | 39 18 28 PT1/2" M20 % 2.5P 30

(F)TPC HZIEZ YA | 55



THCO Series | /¢ ¥% 9d M2IH @30~0125

> 7|2 (SDE) LA S/W TYPE

A D + STROKE
G H J + STROKE | 2—M
e
\\ I \| ‘I I’
----- = 1
B B
L [EE==
L Q tinl o D ‘
s o B e ————— oL}
8 o = 1o
C == =1 ===
e -
I [
2X4— N (TAP)
Zo|- P
% S/W Type(2 30~ 100) MZA| (D+AERT) R|3 HAE +15 ANE (2125 0142 B9 2)
% S/W Type ¢125 0|4 Xt 7ts 29 2
» Dimension
I:r-r| m
ﬁﬁ-ﬂ-ﬂ-_-_ll-““ﬂ
930 018 M12 x1,75P %68 ?$53 PT1/4" M8 x1,25P
940 @22 10 M16 x 2P 20 71 78 ?#63 ‘ 71 5 27 12 32 PT1/4" M8x1.25P 15
950 ?28 1 M20x2.5P 24 75 ?88 673 84 27 13 35 PT1/4" M10 x1.5P 18
963 ?35 13 M27 x 3P 33 82 ‘ $108 890 ‘ 101 30 13 39 PT1/4" M12x1.75P | 20
980 645 17 M30x 3.5P 33 93 128 $108 121 34 18 4 PT3/8" M14 x 2P 22
8100 955 25 M42 % 3P 45 95 | @158 @132 147 34 18 43 PT3/8" | MI8x25P 27
9125 ?55 25 M42 x 3P 45 118 ?188 ®159 176.5 39 18 61 PT1/2" M20x25P 30

56 | www.TPCpage.co.kr



:Io
rﬂQ

g 98 42t g30~@125 | THCO Series

> 7|2 (SDE) =LA S/W TYPE

C A D + STROKE
G H , J+STROKE | | 2-M
‘ !/
,,,,, iR RERN
Lfﬁ F=r
L
LLl S -Iml ®| T
sl al = } S SRy
O ﬁ ER
o
J
=== ===
b4 b - — -
=== | ——
T
2Xx4— N (TAP)
Zol-p
% S/W Type(s30~2 100) HIZIA| (D+AER3) X1+ BIZE +15 AAFE (2125 0|42 29| 2F)
% S/W Type 9125 014 XXt 7ts 29 9%
» Dimension
Er°|mm
ﬁﬁ-ﬂ-ﬂ-_-_--““ﬂ
930 018 M16 < 1.5P 868 853 PT1/4" | M8x1.25P
940 922 25 M20x1.5P 20 71 878 | 863 715 27 12 32 PT1/4" | MB8x1.25P 15
950 = 828 25 | M24x15P | 25 75 888 873 84 27 13 3  PTI4"  MIOx15P 18
963 035 30 | M30x15P | 35 82 | 8108 690 101 30 13 39 PTI/4"  MR2x175P 20
980 = 845 30 | M39x15P | 35 93 | 6128 @108 121 34 18 41 | PT3/8"  Mi4x2P | 22
9100 955 35 | M48x15P | 45 95 | 8158 @132 | 147 34 18 43 | PT3/8" MIBx25P | 27
9125 955 40 | M48x15P | 55 118 | 9188 8159 1765 39 18 61 | PTI/2"  M20x25P | 30

(F)TPC HZIEZHY A | 57



THCO Series | /¢ ¥F 9d A2IH @30~0125

> 7129 (ShE) Y=2= TYPE

]S A D + STROKE A + STROKE
PCD oF H J+STROKE_ _ H 2-M

Y
Y

=== ===
o4y B
I 7 [
2x4— N (TAP) ©
20— P
% S/W Type(@30~3100) MZA| (D+AEZT) R[4 HAE +15 HEE (2125 0|42 29 QY)
% S/W Type ¢125 0|4 Xt 7ts 29 2
» Dimension
(EH2L:mm)
!&--ﬂ-ﬂﬂ----ﬂ“ﬂ -ﬂ
230 018 M12 x1.75P %53 PT1/4" M8x1.25P N M16x1.5P
040 622 10 M16 x 2P 20 72 ¢78 %63 27 18 PT1/4" M8 x1.25P 15 _LF} 20 25 M20 x1.5P
950 28 1 M20 x2.5P 24 5 %88 | 873 27 21 PT1/4" M10x1.5P 18 A 25 25 M24 x1.5P
963 ?35 13 M27 x 3P 33 82 %108 990 30 22 PT1/4" M12x1,75P 20 | E} 35 30 M30 x1.5P
080 ?45 17 M30x3.5P 33 95 %128 0108 | 34 27 PT3/8" M14 x 2P 2 ¢ 35 30 M39 x1.5P
2100 ?55 25 M42 x 3P 45 100 | @158 @132 34 32 PT3/8" M18x 2 5P 27 45 35 M48 x1.5P
9125 855 25 M42 x 3P 45 115 %188 | 9159 39 37 pPT1/2" M20 x2.5P 30 55 40 M48 x1.5P

58 | www.TPCpage.co.kr



:Io
rﬂQ

g 98 42t g30~@125 | THCO Series

» 7|12 (FAY) LLIA} TYPE

oo C A__F D + STROKE

H J + STROKE | | 2-M
| 2l

s N b

g 33
| 1\ o L w
IS

Q/

% S/W Type(p30~2100) MZA| (D+AERT) X|3 HFE +15 HYE (2125 0|42 29 2F)
% S/W Type 2125 014 X% 7ts 29 2%

» Dimension
Erol mm
ﬁﬁ--’-ﬂﬂ----“ﬂﬂﬂ
930 218 M16 x1.5P ?68 PT1/4"
940 \ 022 10 M20 x1.5P 20 56 @78 15 27 12 17 PT1/4" 90 70 ¢11
950 828 7 M24 x15P 25 60 ?88 18 27 13 20 PT1/4" 100 80 811
963 \ 835 12 M30x1.5P 35 67 108 18 30 13 24 PT1/4" 120 96 814
080 845 10 M39x15P 35 78 128 20 34 18 26 PT3/8" 145 115 218
9100 \ ®55 1 M48 x1.5P 45 80 ?158 24 34 18 28 PT3/8" 180 143 022
9125 855 14 M48 x1,5P 55 85 ?188 26 39 18 28 PT1/2" 210 170 024

(F)TPCHZIEZHY A | 59



THCO Series | /¢ ¥% 9d M2IH @30~0125

» 7|12 (FBY) =LAt TYPE

© A D + STROKE F
H  J+STROKE _ | 2—M
! / —
I Te===
I i ] 1L T
Ll g

oE

% S/W Type( 30~ 100) MZEA| (D+AE§3) Xl HZAE +15 ANE (2125 0142 29 21)
% S/W Type ¢125 0|4 Xt 7ts 29 2

» Dimension
(E2f:m)
m-ﬂ-n---—-nnnn
930 018 M16 x 1.5P 868 PT1/4"
940 922 25 M20 x1.5P 20 56 878 15 \ 27 12 17 PT1/4" 90 70 ¢11
p50 = 828 25 | M24x15P 25 60 888 18 27 13 20 PTI/4" | 100 = 80 8l
963 935 30 | M30x15P 35 67 8108 18 30 13 24 PTI/4" | 120 9% | 014
980 = 845 30 | M39x15P 35 78 8128 | 20 34 18 26 PT3/8" 145 115 18
9100 855 35 | M48x15P 45 80 g158 = 24 | 34 18 28 PT3/8" 180 143 822
125 955 40 | M48x15P 55 85 s188 | 26 39 18 28 PTI/2' | 210 | 170 | 924

60 | www.TPCpage.co.kr



